Dividing by Multiples of Positive Powers of Ten (G)

Name: Date:

Divide each number by multiples of positive powers of ten.

160,000 = (2 x 10°

160,000 = (2 x 101) =

( ) =
( )
160,000 + (2 x 10?)
160,000 = (2 x 10%) =
160,000 = (2 x 10%) =
800,000 + (8 x 10°)
800,000 + (8 x 10%)
800,000 = (8 x 10?)
800,000 = (8 x 10%)
800,000 < (8 x 10%)

180,000 + (6 x 10°) =
180,000 = (6 x 10') =
180,000 = (6 x 10%) =
180,000 + (6 x 10%) =
180,000 + (6 x 10%)

210,000 = (3 x 10°
210,000 = (3 x 101

210,000 = (3 x 103
210,000 = (3 x 10*

( )

( )
210,000 =+ (3 x 10%) =

( )

( )

70,000 = (7 x 10°%) =
70,000 + (7 x 101) =
70,000 = (7 x 10%) =
70,000 = (7 x 103) =
70,000 = (7 x 10%) =

240,000 = (4 x 10°

240,000 = (4 x 101) =

( ) =
( )
240,000 = (4 x 10?)
240,000 + (4 x 10%) =
240,000 = (4 x 10%) =
300,000 + (6 x 10°)
300,000 = (6 x 101)
300,000 = (6 x 10?)
300,000 = (6 x 10%)
300,000 = (6 x 10%)

200,000 + (5 x 10°%) =
200,000 =+ (5 x 10) =
200,000 =+ (5 x 10%) =
200,000 + (5 x 10%) =
200,000 = (5 x 10%)

810,000 = (9 x 10°
810,000 = (9 x 101

810,000 = (9 x 103
810,000 = (9 x 10*

( )

( )
810,000 =+ (9 x 10%) =

( )

( )

140,000 = (7 x 10%) =
140,000 + (7 x 10') =
140,000 = (7 x 10%) =
140,000 = (7 x 10%) =
140,000 = (7 x 10%) =
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